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General Awareness and Reasoning

Section Id : 4410091016065
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 4410091019917
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 441009629469 Question Type : MCQ

The defence budget in India has seen a steady rise, growing from 32.53 lakh crore in 2013-14 to how much lakh crore in 2025-26 which reflects India’s
commitment to strengthening its military foundations?

Options :

4410092472023. ¥ %6.81 lakh crore
4410092472024. * %5.81 lakh crore
4410092472025. % %4.81 lakh crore
4410092472026. * Z10.81 lakh crore

Question Number : 1 Question Id : 441009629469 Question Type : MCQ

YR B & g0l T TR gi S 718 8, S 2013-14 7 2.53 TRI HRIS SUY F TGHR 2025-26 H ford- ARG RIS TUL 81 7T &, S HRA Bi 3T
I i ) Aoled B B Ul Bl g=iar g2

Options :

4410092472023. ¥ 36.81 TR HRIS
4410092472024, % 35.81 AR PRIS
4410092472025, % 34.81 TR RIS
4410092472026. # 310.81 ARG PRI




Question Number : 2 Question Id : 441009630732 Question Type : MCQ

The T cell-based vaccine Pathogen ReActive cells Harnessing T cell receptors (TCRs) — PRAHR — which has bagged the ‘Best Societal Impact Award’ at
the first Biothon 2025 held on January 2025 can be used to cure which disease?

Options :

4410092477075. ¥ Dengue
4410092477076. ¥ Covid-19
4410092477077. # Chicken Pox
4410092477078. # HIV AIDS

Question Number : 2 Question Id : 441009630732 Question Type : MCQ

T J-3eRd daii= T Rufdea e g R T ¥ RAPH (TCRs) - PRAHR - R SiHast 2025 & AR, Uga Sraidi= 2025 § o AfREd
e AT’ SiidT g, BT SUTNT fobd INT & AT 1 b o1 Tehall 82

Options :

4410092477075. ¢ S
4410092477076, % HIAS-19
4410092477077 % B! AT
4410092477078, ¥ HIV &Y

Question Number : 3 Question Id : 441009630566 Question Type : MCQ

Who won the award for the Best Actress in a Leading Role in the Feature Film category in the 71% National Film Awards for the year 2023 announced in
20257

Options :

4410092476411. ¥ Rani Mukerji
4410092476412. * Urvashi
4410092476413. #* Janki Bodiwala
4410092476414. # Sukriti Veni Bandreddi

Question Number : 3 Question Id : 441009630566 Question Type : MCQ



2025 H OIf¥d, 2023 & 71d AP theH GRIBRI H IR e JUit & ST AT H JAIY S BT YRDR g Sitd

Options :

4410092476411, ¢ It oI
4410092476412, % Ia=ft
4410092476413, % SHD! dIstaral

4410092476414, % gopid duft davgl

Question Number : 4 Question Id : 441009631514 Question Type : MCQ
Where was the Communist Party of India founded by MN Roy?

Options :

4410092480199. * Allahabad

4410092480200. ¥ Tashkent

4410092480201. * Berlin

4410092480202. ¥ Moscow

Question Number : 4 Question Id : 441009631514 Question Type : MCQ
TH.TH. 39 gRT R SR UTe &t RITY Hal Bl T8 A2

Options :

4410092480199, % IATETETG
4410092480200, ¥ TG G
4410092480201, % §feA
4410092480202, % HTHY

Question Number : 5 Question Id : 441009631498 Question Type : MCQ
The treaty of "Yandaboo' was related with which of the following wars?
Options :

4410092480135. * The first Anglo-Nepal war



4410092480136. # The first Anglo-Chinese war
4410092480137. ¥ The first Anglo-Burmese war
4410092480138. * The first Anglo-Afghan war

Question Number : 5 Question Id : 441009631498 Question Type : MCQ
”Cl'iglq(Yandaboo)' 31 fY fgfefad 7 9 forg I Y e ot

Options :

4410092480135. ¥ TYH FA-AUTA I

4410092480136. ¥ UYH HTA-dIHI Ig

4410092480137, ¢ TYH {d-§H G

4410092480138. ¥ JYH 3 A-BIH J&

Question Number : 6 Question Id : 441009606171 Question Type : MCQ

The 'Kathak' dance tradition, characterised by its intricate footwork, rhythmic patterns and storytelling through mime and gesture, originated in which region
of India?

Options :

4410092379801. * Rajasthan
4410092379802. ¢ Uttar Pradesh
4410092379803. ¥ Maharashtra
4410092379804. ¥ Gujarat

Question Number : 6 Question Id : 441009606171 Question Type : MCQ

HYP' T TIORT, S 370 S UG (intricate footwork), TIEG Ue 3R W IUT §19-HIG & HIHH J HaM! Ha- &I [a=ydT 39! 8, HRd &
g 83 ¥ ST 32

Options :

4410092379801, % ISR

4410092379802, ¢ I UK

4410092379803. * HERIY



4410092379804, # T[SRTd

Question Number : 7 Question Id : 441009637930 Question Type : MCQ

What phenomenon do we observe when transitioning from coastal areas like Kerala or West Bengal to inland states such as Rajasthan and Punjab,
characterised by substantial temperature fluctuations throughout the year due to the reduced influence of oceanic moderation?

Options :
4410092505863. * Monsoonal effect

4410092505864. ¥ Continental Effect
4410092505865. * El Nino

4410092505866. ¥ La Nina

Question Number : 7 Question Id : 441009637930 Question Type : MCQ

B T UIYH ST Wi dcty &3 I ISR 3R USTe Wi 3iad: R Jdl H HhHUI HRd THY §H HI-T1 U1 ¢d o, forgd AgRRIg
RGN (oceanic moderation) P HH YUTT b HRUT IY HR dIH H HTHT JdR-deld @Tﬂ %?

Options :

4410092505863, ¥ TG GUTd

4410092505864, ¢ HETIUIT YHTd

4410092505865. % TQA =I-I

4410092505866. % T I




Question Number : 8 Question Id : 441009637902 Question Type : MCQ

The rivers Jhelum, Chenab, Ravi, Beas and Sutlej are tributaries of which major river in India?
Options :

4410092505751. * Ganges River

4410092505752. * Godavari River

4410092505753. ¥ Brahmaputra River

4410092505754. ¥ Indus River

Question Number : 8 Question Id : 441009637902 Question Type : MCQ
ey, fomTe, e, T SR Faqe Afeal HRd &t ford U Ac} &1 uerae Afear 82

Options :

4410092505751, ¥ TTT S}
4410092505752. % TGIa%t Ag!
4410092505753, % YA T
4410092505754 ¢ Ry 7t

Question Number : 9 Question Id : 441009636225 Question Type : MCQ

Where is the headquarters of ICAR - National Bureau of Soil Survey and Land Use Planning?
Options :

4410092499043. ¥ Chandigarh

4410092499044, * Bengaluru

4410092499045. ¥ Nagpur

4410092499046. # Patna

Question Number : 9 Question Id : 441009636225 Question Type : MCQ

ICAR - T84 HeT Faeor 3R HfH SUaNT et &)1 1 1T gl 87

Options :
4410092499043, % TSNTG



4410092499044, % SIS
4410092499045, ¢ TATGR
4410092499046, ¥ el

Question Number : 10 Question Id : 441009610860 Question Type : MCQ

Jal Jeevan Mission, which has been extended until 2028, was launched in which year?
Options :

4410092398557. % 2025

4410092398558. # 2013

4410092398559. ¥ 2019

4410092398560. * 2007

Question Number : 10 Question Id : 441009610860 Question Type : MCQ
T Sita forer, 5 aef 2028 a6 ¢ fear wan B, fora o are fvar mar um

Options :

4410092398557. ¥ 2025
4410092398558. * 2013
4410092398559. ¢ 2019
4410092398560. ¥ 2007

Question Number : 11 Question Id : 441009755910 Question Type : MCQ

P,Q,R, S, T, U and V are sitting around a circular table, facing the centre. Only two people sit between S and R, when counted from the right of S. Only two
people sit between R and V, when counted from the left of V. Only three people sit between S and Q, when counted from the right of S. T sits to the
immediate left of U. How many people sit between Q and U, when counted from the right of U?

Options :

4410092977633. ¥ 1
4410092977634. % 2
4410092977635. % 3
4410092977636. ¥ 4



Question Number : 11 Question Id : 441009755910 Question Type : MCQ

P, Q,R,S, T, U 3R V T& Md IS & URA: Hg B 3R IME EHR 98 51 S H aR IR A AN FA W, SRR F T Faa al Afdd ds &1 v
TE M AN FA R, R IR VP ST Had al AT 93 &1 S P a8 3R I A FA R, S 3R Q F S Had i AT 98 &1 T, U b 3l a1
R IBTRI U P TE 3R A R FA W, Q 3R U & &9 foo ) AT 98 22

Options :

4410092977633. ¥ 1
4410092977634. % 2
4410092977635. % 3
4410092977636. * 4

Question Number : 12 Question Id : 441009817619 Question Type : MCQ

Refer to the following number, symbol series and answer the question that follows. Counting to be done from left to right only. (All numbers are single-digit
numbers only.)

(Left)y 2?31479$84&% 1 (Right)

How many such symbols are there, each of which is immediately preceded by an odd number and immediately followed by an even number?
Options :

4410093224599. * None

4410093224600. * One

4410093224601. ¥ Two

4410093224602. * Three

Question Number : 12 Question Id : 441009817619 Question Type : MCQ

gmﬁr@aﬁw,u?ﬂiﬁmmmﬁﬁeﬁ?%quww% e Frad 91 T S BT 3R B o g 1 (T TeATE Fhadt Thd-3i iy TeaTd
A

(@) 2231479$84&%1 (aV)

T fohaH Tt &, oFH @ Ul & 31e Ugdl Udh [auH TReT 3R 3l d1g U 9H T /2




Options :

4410093224599. * T i gl
4410093224600. ¥ T
4410093224601, ¢ &
4410093224602. ¥ dIH

Question Number : 13 Question Id : 441009769976 Question Type : MCQ

Refer to the following number, symbol series and answer the question that follows. Counting to be done from left to right only. (All numbers are single-digit
numbers only.)

(Lef) 5 * 4 2 % * 5 * 9 # 4 £ @ % & 7 £ 9 5 £ @ 8 (Right

How many such numbers are there, each of which is immediately preceded by a number and also immediately followed by a symbol?
Options :

4410093033897. ¥ 2

4410093033898. # 3

4410093033899. * 1

4410093033900. * 4

Question Number : 13 Question Id : 441009769976 Question Type : MCQ
gl'gﬁ’l@?f{-i@-{l, Tcfier siRaa &1 ey of 3R fau 1T Uy &1 IR S| A Fadt 918 T g o1 3R Bt o 3 | (@ T Hadt Uehdl- b g Ty
)

@MW) 5 * 4 2 % * 5 * 9 # 4 £ @ % & 7 £ 9 5 £ @ 8 (aN

U fpam OB §, 5 H @ Ul & 3id Ugd Ueh T 3R 31 d1g U Uaii 82
Options :

4410093033897, ¢ 2

4410093033898, ¥ 3

4410093033899, % 1

4410093033900. % 4




Question Number : 14 Question Id : 441009757758 Question Type : MCQ

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with
commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

Some Mercuries are Venuses.
No Venus is Earth.

All Earths are Marses.

Conclusions:
I: Some Earths are Venuses.
II: Some Venuses are Marses.

Options :

4410092985025. * Only conclusion (I) follows.
4410092985026. * Only conclusion (II) follows.
4410092985027. ¥ Neither conclusion (I) nor (II) follows.
4410092985028. * Both conclusions (I) and (II) follow.

Question Number : 14 Question Id : 441009757758 Question Type : MCQ

fau U BT R FHul &I eaTgd® UG | T8 W gU o dHuAl § € 718 SIHeR! Ud §, Mol 81 98 JHd: I1d awl o s vrditd g 81, T &% fb
fau e sl & ¥ S1F-91/3 Fhy, Sl &1 difthe 0 I SUR01 HRdl 8/ & |

DY:

6 Y, TH T
PI3 H b, el TET B |
it gedt, T |

e

I $© T, Y 7 |
II: $ b, WA g
Options :

4410092985025, % Had fHY (1) SITRV HT 5|




4410092985026 ¥ had (B (I1) 3FIHRUI HRT g |
4410092985027, ¢ 7 a0l FT5HY (1) 3R 7 &1 Fsp (11) TR0 HRAT B |
4410092985028, * FT5HY (1) 3R (1) GFT TR Hd g

Question Number : 15 Question Id : 441009776788 Question Type : MCQ

Eléii?is related to QG -10 in a certain way. In the same way, EX 7 is related to HS -6. To which of the given options is IG 19 related, following the same
Options :

4410093061155. # MK 5

4410093061156. ¥ LB 6

4410093061157. # HG 4

4410093061158. #* YG 3

Question Number : 15 Question Id : 441009776788 Question Type : MCQ

U fAfd ad A NL 3 BT IHEY QG -10 T B 1 I ORE, EX 7 BT ISY HS -6 F ¢ | JHM b T IR0 63 Y, IG 19 T Jay fou 7 faweni §
fad g

Options :

4410093061155, ¥ MK 5

4410093061156, ¥ LB 6

4410093061157, ¥ HG 4

4410093061158. ¥ YG 3

Question Number : 16 Question Id : 441009777205 Question Type : MCQ

UG 31 is related to WJ 10 in a certain way. In the same way, VO 27 is related to XR 6. To which of the given options is LW 23 related, following the same
logic?

Options :

4410093062823. # MY 4

4410093062824, ¥ NZ 2

4410093062825. % MZ 4



4410093062826. * NY 2

Question Number : 16 Question Id : 441009777205 Question Type : MCQ

Wﬁ%ﬁmﬁﬁUG 31 HTHEY WJ 10 ¥ g1 ST ARE, VO 27 BT IHEY XR 6 I § | H db BT IRV B U, LW 23 HT e f3T T8 faswedi 7 4
fore g

Options :

4410093062823, * MY 4
4410093062824, ¥ NZ 2
4410093062825. * MZ 4
4410093062826. * NY 2

Question Number : 17 Question Id : 441009768744 Question Type : MCQ

Based on the English alphabetical order, three of the following four letter-cluster pairs are alike in a certain way and thus form a group. Which letter-cluster
pair DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)

Options :

4410093028969. ¥ AG - FK
4410093028970. * DJ - 10
4410093028971. * LR - QW
4410093028972. # NT - SY

Question Number : 17 Question Id : 441009768744 Question Type : MCQ

ST qUIATAT HH & YR R, FAfied IR sieR-9g Tl § 9 i Te Fidd did 9 90 8 3R 39 YR Th JU §41d ¢ | Fufafad 3 a8
DI-TT1 3eR-THg TH ¢, ol 39 JU I Hafd 181 g2

(FYC: 3T 3eR-THg T FieHIRaR] B = H 3! FRUf R 3 T8l 1)

Options :

4410093028969. ¥ AG - FK

4410093028970. ¥ DJ - 10



4410093028971. ¥ LR - QW
4410093028972. # NT - SY

Question Number : 18 Question Id : 441009759042 Question Type : MCQ
Which of the following letter-number clusters will replace the question mark (?) in the given series to make it logically complete?

PMK 31 ROM42 TQOS53 VSQ64 ?
Options :

4410092990161. ¥ XUS 75

4410092990162. ¥ XVR 75

4410092990163. * XTR 74

4410092990164. ¥ XGQ 74

Question Number : 18 Question Id : 441009759042 Question Type : MCQ

3112 gfaet @t arfdhes T 1 guf 99 & forg, FRaffad o @ e-ar sier-er wig uy-fog (7) &) ufaifid sm

PMK 31 ROM42 TQOS53 VSQ64 ?
Options :

4410092990161. ¥ XUS 75

4410092990162. ¥ XVR 75

4410092990163. #* XTR 74

4410092990164. ¥ XGQ 74

Question Number : 19 Question Id : 441009923343 Question Type : MCQ
Select the option in which the given figure is embedded (rotation is NOT allowed).

Options :



4410093647516. #

4410093647517. ¥

4410093647518, #

4410093647519. %

Question Number : 19 Question Id : 441009923343 Question Type : MCQ

39 e 1 797 Hifore, o €1 118 srpfal siafied g (gu &1 SrgAfd 781 ©)



Options :

4410093647516. #

4410093647517. ¢

4410093647518, %




4410093647519. #

Question Number : 20 Question Id : 441009977995 Question Type : MCQ

What should come in place of the question mark (?) in the given series?
10 20 29 37 44 ?

Options :

4410093864686. * 48
4410093864687. # 49
4410093864688. ¥ 50
4410093864689. # 52

Question Number : 20 Question Id : 441009977995 Question Type : MCQ
3713 ofaar # vy (2) & RIM O 941 3T

10 20 29 37 44 ?

Options :

4410093864686. * 48

4410093864687. ¥ 49

4410093864688. ¥ 50

4410093864689. ¥ 52

General English and General Science

Section Id : 4410091016066
Section Number : 2



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 18

Number of Questions to be attempted : 18

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 4410091019918
Question Shuffling Allowed : Yes

Question Id : 44100933105 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (21 to 23)
Read the given passage and answer the questions that follow.

For decades, humans have used plastics in many types of products, including food containers, clothes, toys, tools and home supplies. The first plastic was
made in the 1950s. That is when plastic pollution began. Plastics can be broken down into very small pieces in the environment. Microplastics are pieces of
plastic that range from about 1 micron in size (the size of a speck of dust) up to 5 millimeters (almost the size of an ant). Sometimes microplastics are so
small that we need special instruments such as microscopes to see them. Microplastic pollution is one of the main environmental problems of our time, due
to the small size and unique chemical characteristics of plastics. Back in the 1970s, scientists began to realise that plastics stuck around in the environment.

Today, especially after the COVID-19 pandemic, the amount of microplastics in rivers, oceans, lakes and wastewater has increased, likely due in part to the
use of face masks.

During the COVID-19 pandemic, three-layer face masks made of plastic materials were used to keep people from contracting the virus that causes the
disease. The global production of masks increased dramatically—around 129 billion face masks were produced monthly which is equivalent to the weight of
two commercial airplanes. At the time, no one told us how these materials affect our environment and human health. Typically, we threw face masks away in
the trash can or, in some cases, people threw them in the streets, contaminating the environment.

Sub questions

Question Number : 21 Question Id : 44100933106 Question Type : MCQ
Which of the following options best describes the structure of the passage?

Options :
441009131616. * It is a persuasive argument against the use of face masks during COVID-19.
441009131617. # Tt introduces the history of plastics, explains microplastic pollution and connects it to the COVID-19 pandemic.



441009131618. * It provides a detailed explanation of the chemical composition of plastics.
441009131619. * It primarily focuses on the advantages of using plastic in different industries.

Question Number : 22 Question Id : 44100933107 Question Type : MCQ

What can be inferred about the long-term impact of microplastics?

Options :

441009131620. #* Microplastics can be easily removed from the environment with proper technology.
441009131621. * Microplastics are only found in large bodies of water, not in the air or soil.
441009131622. * The presence of microplastics is decreasing due to recycling efforts.

441009131623. ¥ Microplastics may pose environmental and health risks that are not yet fully understood.

Question Number : 23 Question Id : 44100933108 Question Type : MCQ

How can the ideas presented in the passage be applied to real-life situations?

Options :

441009131624. # By banning all plastic products worldwide

441009131625. ¥ By understanding the long-term consequences of plastic waste and encouraging responsible disposal of plastic materials
441009131626. * By assuming that only industries are responsible for plastic pollution

441009131627. * By ignoring microplastics since they are too small to cause significant harm

Question Id : 44100933105 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (21 to 23)
Read the given passage and answer the questions that follow.

For decades, humans have used plastics in many types of products, including food containers, clothes, toys, tools and home supplies. The first plastic was
made in the 1950s. That is when plastic pollution began. Plastics can be broken down into very small pieces in the environment. Microplastics are pieces of
plastic that range from about 1 micron in size (the size of a speck of dust) up to 5 millimeters (almost the size of an ant). Sometimes microplastics are so
small that we need special instruments such as microscopes to see them. Microplastic pollution is one of the main environmental problems of our time, due
to the small size and unique chemical characteristics of plastics. Back in the 1970s, scientists began to realise that plastics stuck around in the environment.
Today, especially after the COVID-19 pandemic, the amount of microplastics in rivers, oceans, lakes and wastewater has increased, likely due in part to the
use of face masks.



During the COVID-19 pandemic, three-layer face masks made of plastic materials were used to keep people from contracting the virus that causes the
disease. The global production of masks increased dramatically—around 129 billion face masks were produced monthly which is equivalent to the weight of
two commercial airplanes. At the time, no one told us how these materials affect our environment and human health. Typically, we threw face masks away in
the trash can or, in some cases, people threw them in the streets, contaminating the environment.

Sub questions

Question Number : 21 Question Id : 44100933106 Question Type : MCQ
Which of the following options best describes the structure of the passage?

Options :

441009131616. * It is a persuasive argument against the use of face masks during COVID-19.

441009131617. ¢ It introduces the history of plastics, explains microplastic pollution and connects it to the COVID-19 pandemic.
441009131618. * It provides a detailed explanation of the chemical composition of plastics.

441009131619. * 1t primarily focuses on the advantages of using plastic in different industries.

Question Number : 22 Question Id : 44100933107 Question Type : MCQ

What can be inferred about the long-term impact of microplastics?

Options :

441009131620. * Microplastics can be easily removed from the environment with proper technology.
441009131621. #* Microplastics are only found in large bodies of water, not in the air or soil.
441009131622. * The presence of microplastics is decreasing due to recycling efforts.

441009131623. ¥ Microplastics may pose environmental and health risks that are not yet fully understood.

Question Number : 23 Question Id : 44100933108 Question Type : MCQ

How can the ideas presented in the passage be applied to real-life situations?

Options :

441009131624. * By banning all plastic products worldwide

441009131625. ¥ By understanding the long-term consequences of plastic waste and encouraging responsible disposal of plastic materials
441009131626. #* By assuming that only industries are responsible for plastic pollution

441009131627. # By ignoring microplastics since they are too small to cause significant harm

Sub-Section Number : 2



Sub-Section Id : 4410091019919
Question Shuffling Allowed : Yes

Question Number : 24 Question Id : 441009481156 Question Type : MCQ
Select the most appropriate option to fill in the blank.

Immediately, my face was pricked sharply by ice splinters carried in the wind.
Options :

4410091879973. ¢ brisk
4410091879974. ¥ vapid
4410091879975. # languid
4410091879976. # loud

Question Number : 24 Question Id : 441009481156 Question Type : MCQ
Select the most appropriate option to fill in the blank.

Immediately, my face was pricked sharply by ice splinters carried in the wind.
Options :

4410091879973. # brisk
4410091879974. # vapid
4410091879975. # languid
4410091879976. # loud

Question Number : 25 Question Id : 441009157971 Question Type : MCQ

Select the option that expresses the given sentence in active voice.
The room had been cleaned before the guests arrived.

Options :

441009626862. * Someone cleans the room before the guests arrive.
441009626863. * Someone cleaned the room before the guests arrived.
441009626864. ¥ Someone had cleaned the room before the guests arrived.



441009626865. * The guests had cleaned the room before they arrived.

Question Number : 25 Question Id : 441009157971 Question Type : MCQ

Select the option that expresses the given sentence in active voice.
The room had been cleaned before the guests arrived.

Options :

441009626862. * Someone cleans the room before the guests arrive.
441009626863. #* Someone cleaned the room before the guests arrived.
441009626864. ¥ Someone had cleaned the room before the guests arrived.
441009626865. * The guests had cleaned the room before they arrived.

Question Number : 26 Question Id : 441009478989 Question Type : MCQ
Select the option that expresses the given sentence in passive voice.

People have cut down many trees in the forest.

Options :

4410091871305. ¥ Many trees have been cut down in the forest by people.
4410091871306. * Many trees have cut down in the forest by people.
4410091871307. ¥ Many trees have been cutting down in the forest by people.
4410091871308. * Many trees has cut down in forest by the people.

Question Number : 26 Question Id : 441009478989 Question Type : MCQ
Select the option that expresses the given sentence in passive voice.

People have cut down many trees in the forest.

Options :

4410091871305. ¥ Many trees have been cut down in the forest by people.
4410091871306. ¥ Many trees have cut down in the forest by people.
4410091871307. # Many trees have been cutting down in the forest by people.
4410091871308. * Many trees has cut down in forest by the people.



Question Number : 27 Question Id : 441009417048 Question Type : MCQ
Select the INCORRECTLY spelt word.

Options :

4410091633582. ¥ Mileniumm

4410091633583. * Reiterated

4410091633584. * Absorbedly

4410091633585. # Abortively

Question Number : 27 Question Id : 441009417048 Question Type : MCQ
Select the INCORRECTLY spelt word.

Options :

4410091633582. ¥ Mileniumm

4410091633583. # Reiterated

4410091633584. * Absorbedly

4410091633585. # Abortively

Question Number : 28 Question Id : 441009413061 Question Type : MCQ
Select the closest ANTONYM of the underlined word in the given sentence.

The popularity of the new smartphone soared after its innovative features were praised by tech reviewers.
Options :

4410091617634. ¥ Fame

4410091617635. ¥ Demand

4410091617636. ¥ Obscurity

4410091617637. # Vogue

Question Number : 28 Question Id : 441009413061 Question Type : MCQ
Select the closest ANTONYM of the underlined word in the given sentence.



The popularity of the new smartphone soared after its innovative features were praised by tech reviewers.
Options :

4410091617634. ¥ Fame

4410091617635. ¥ Demand

4410091617636. ¥ Obscurity

4410091617637. # Vogue

Question Number : 29 Question Id : 441009413049 Question Type : MCQ
Based on the situation in the sentence, select the most appropriate idiom.

Her explanation of the problem really , perfectly capturing the issue we were facing.
Options :

4410091617586. * put something on ice

4410091617587. * caused a snowball effect

4410091617588. # was a bolt from the blue

4410091617589. ¢ hit the nail on the head

Question Number : 29 Question Id : 441009413049 Question Type : MCQ
Based on the situation in the sentence, select the most appropriate idiom.

Her explanation of the problem really , perfectly capturing the issue we were facing.
Options :

4410091617586. * put something on ice

4410091617587. # caused a snowball effect

4410091617588. ¥ was a bolt from the blue

4410091617589. ¥ hit the nail on the head

Question Number : 30 Question Id : 441009428343 Question Type : MCQ

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent paragraph.
A) After the egg hatches, they raise the kiwi till it is 1 kg in weight.



B) Then, the Department of Conservation returns it to the wild.
C) The Department of Conservation monitors the male kiwi birds for those incubating an egg.
D) The kiwi hatchery artificially completes the incubation process.

Options :
4410091672890, ¥ CBAC

4410091672891, ¥ DABC
4410091672892, «# CDAB

4410091672893, ¥ DBCA

Question Number : 30 Question Id : 441009428343 Question Type : MCQ

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent paragraph.
A) After the egg hatches, they raise the kiwi till it is 1 kg in weight.

B) Then, the Department of Conservation returns it to the wild.

C) The Department of Conservation monitors the male kiwi birds for those incubating an egg.

D) The kiwi hatchery artificially completes the incubation process.

Options :
4410091672890, ¥ CBAC
4410091672891, ¥ DABC

4410091672892. ¢+ CDAB

4410091672893, ¥ DBCA

Question Number : 31 Question Id : 4410091028695 Question Type : MCQ
In a chemical reaction, 10 g of calcium reacts with 17 g of chlorine to form calcium chloride. What is the mass of calcium chloride formed?



Options :
4410094066430. ¥ 27 g
4410094066431. * 17 g
4410094066432. % 7 g
4410094066433. # 10 g

Question Number : 31 Question Id : 4410091028695 Question Type : MCQ

T IS NHATH, 10 ¢ IR, 17 ¢ FARE & 1Y BT Hb Hiekrad RS 94911 7 | FAfifa Hfekray seiRiss &1 goam fear g2
Options :

4410094066430. ¥ 27 g

4410094066431, # 17 ¢

4410094066432, # 7 g

4410094066433. % 10 g

Question Number : 32 Question Id : 4410091029493 Question Type : MCQ
Which of the following is a derivative of a carboxylic acid (-COOH)?

Options :

4410094069670. * Ethanol

4410094069671. * Ethanal

4410094069672. ¥ Sodium ethanoate

4410094069673. # Ethylamine

Question Number : 32 Question Id : 4410091029493 Question Type : MCQ
frafafed # @ o191, Seifaifde 3T ((COOH) H1 U §?

Options :

4410094069670. ¥ TIATA

4410094069671, % WA

4410094069672, ¢ QITSTH TIAUC



4410094069673, # Qlﬂaﬂﬁlﬂ

Question Number : 33 Question Id : 4410091029666 Question Type : MCQ
Which of the following is the correct unit of pressure?

Options :

4410094070350. # Newton

4410094070351. # Joule

4410094070352. ¢ Pascal

4410094070353. % Watt

Question Number : 33 Question Id : 4410091029666 Question Type : MCQ

216 D1 TG A Fufiad § 9 S1H-a1 82

Options :

4410094070350. # gc-
4410094070351. ® S
4410094070352, ¥ R A
4410094070353. # dIc

Question Number : 34 Question Id : 4410091173817 Question Type : MCQ

Which of the following is the correct representation of the vacuole found in a plant cell?
Options :

4410094629425. # Single, small

4410094629426. ¢ Single, large

4410094629427. ¥ Multiple, large

4410094629428. % Multiple, small

Question Number : 34 Question Id : 4410091173817 Question Type : MCQ

fFafaRed & @ S=-91, ey SIS & U S arelt IGUHT (vacuole) BT gt fAReTT g2



Options :

4410094629425. % Tdhd, | (Single, small)
4410094629426. ¥ Udhdl, dST (Single, large)
4410094629427. # dg, 98T (Multiple, large)
4410094629428, # dg, Jlel (Multiple, small)

Question Number : 35 Question Id : 4410091178424 Question Type : MCQ

If aerobic respiration fails in animals, then which of the following processes occur?
Options :

4410094647852. ¥ Anaerobic respiration starts temporarily

4410094647853. #* Photosynthesis begins

4410094647854, #* Energy stops making

4410094647855. * Muscles release oxygen

Question Number : 35 Question Id : 4410091178424 Question Type : MCQ

gfe; gggeit # arg 4 At g1 ofrar 8, af i & @ S99 vy ufed gl 22

Options :

4410094647852, ¢ 3fATg 47, IR T J = I 3
4410094647853, * T[T TN T3 Bl &
4410094647854, ¥ ol S & &1 STl &
4410094647855, % TURMET fTerfioH Bt §

Question Number : 36 Question Id : 4410091178464 Question Type : MCQ
Smoking is lethal, as it causes cancer because

Options :

4410094648014. * it enhances the cilia of the respiratory tract
4410094648015. ¢ it degrades the ciliary structure of the respiratory tract

4410094648016. * it strengthens the lungs’ defence system



4410094648017. # it increases oxygen absorption in the lungs

Question Number : 36 Question Id : 4410091178464 Question Type : MCQ

YHUF, UG Bl e, |t Fh sRU SR BT |

Options :

4410094648014, % T YT Y & GEHTH (cilia) H gl BT ©
4410094648015, ¢ TE 4T Uy &1 ger Ta1 &1 FAdfierd avar 8
4410094648016. % T BhS! b X&MT YUITel I AoTgd ST &
4410094648017. * T8 Bhs! H TGS ANVl &l ST 8

Question Number : 37 Question Id : 441009391379 Question Type : MCQ
Why does an electric fan become warm after prolonged use?

Options :

4410091531071. * It absorbs heat from the surroundings

4410091531072. * Due to friction in air

4410091531073. ¢ Due to heating effect of current

4410091531074. ¥ Because of the rotation of blades

Question Number : 37 Question Id : 441009391379 Question Type : MCQ

fafafed & 9 ®F-91, 9 999 9% TN & a6 faggd Ul & TH §1H &1 HRUT g2

Options :

4410091531071. ¥ 3qPb GRTURAY F ST o AT & HRUT
4410091531072, % aT H TS0 & BRI

4410091531073, ¢ faggd URT & S YU & HRUI
4410091531074, ¥ IS P YUIF & BRI

Question Number : 38 Question Id : 441009391390 Question Type : MCQ
How much energy is consumed when a 100 W bulb is used for 10 hours?



Options :

4410091531115. # 100J
4410091531116. #* 1000 J
4410091531117. ¢ 1 kWh
4410091531118. # 10 kWh

Question Number : 38 Question Id : 441009391390 Question Type : MCQ

100 W %S¢ B1 10 T I ITANT 1 R fhat SHolf &t @ud gt 82
Options :

4410091531115. # 100 J

4410091531116. ¥ 1000 J

4410091531117. ¢ 1 kWh

4410091531118. ¥ 10 kWh

Question Number : 39 Question Id : 441009359152 Question Type : MCQ

An object starts from A and reaches B after some time along the semi-circular path. The travelled distance and displacement, respectively, of the object is
given by:

2m

A @] B
Options :

4410091404187. ¥ 2nm, 4 m
4410091404188. ®* 7m,2 m
4410091404189. # 2m, 4 m
4410091404190. # 4m,2 m




Question Number : 39 Question Id : 441009359152 Question Type : MCQ
TH T A § T & Bl § R EIGHR 7Y R el U $& THI 916 B W Ugad! g | I GRT 9 B 715 g3l 3R IR Ho=r: 1 82

2m

A @] B
Options :

4410091404187. ¥ 2nm, 4 m
4410091404188. * mm,2 m
4410091404189. ¥ 2m, 4 m
4410091404190. # 4 m, 2 m

Question Number : 40 Question Id : 441009391431 Question Type : MCQ
Which of the following correctly differentiates mass and weight?

Options :

4410091531287. #* Mass is variable; weight is constant.

4410091531288. #* Both are measured in kg.

4410091531289. * Mass is a force; weight is matter.

4410091531290. ¥ Mass is constant; weight varies with gravity.

Question Number : 40 Question Id : 441009391431 Question Type : MCQ

iR & 9 SH-91 fdh ey, ST 3R HR H It 3R &1 guiH Bl 82

Options :

4410091531287, % SoIH UREd! 8IdT §; HR 3URad glal g |

4410091531288, * GIFl BI kg H AT ST 5|

4410091531289, ¥ GHHM UH 907 §; YR ST & |

4410091531290. ¥ SeIHT (ARG Il §; HR TcITbYUI & 1Y URafdd Bidl I8d 8|
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Question Number : 41 Question Id : 441009517212 Question Type : MCQ

The average weight (in kg) of a family of five members, whose weights are 40 kg, 49 kg, 57 kg, 64 kg, and 37 kg, is:
Options :

4410092024267. ¥ 49.4
4410092024268. * 50.4
4410092024269. * 48.4
4410092024270. * 51.4

Question Number : 41 Question Id : 441009517212 Question Type : MCQ

40 kg, 49 kg, 57 kg, 64 kg 3R 37 kg IO aTd U TG & URAR BT 3NGd a9 (ke ) fora1 82
Options :

4410092024267. ¥ 49.4
4410092024268. * 50.4
4410092024269. * 48.4
4410092024270. * 51.4




Question Number : 42 Question Id : 441009568026 Question Type : MCQ

Pranav borrows a sum of X7,77,884 at the rate of 8% per annum simple interest. At the end of the first year, he repays 325,418 towards the return of the
principal amount borrowed. If Pranav clears all pending dues at the end of the second year, including interest payment that accrued during the first year, then
how much does he pay at the end of the second year?

Options :

4410092227224, ¥ %8,74,894
4410092227225. % %8,77,608
4410092227226. * %8,79,527
4410092227227. * %8,74,018

Question Number : 42 Question Id : 441009568026 Question Type : MCQ

TUTd 37,77,884 B MR 8% AT TTLRUN SIS B1 &% WR YR A1 & | Uga a8 & 3fd H, I8 IUR @l 713 oI AT H A 225,418 JobT &l g | TS YOG Bl
SR T & 3fd I Gt FTan R B &, o ugd a¥ & g o &S o M §, A gER a8 & 3fd T I et R g ghie

Options :

4410092227224 " %8,74,894
4410092227225. * %8,77,608
4410092227226. * %8,79,527
4410092227227. % 8,74,018

Question Number : 43 Question Id : 441009542200 Question Type : MCQ

Manu borrows %3,31,000 at 10% annual compound interest, compounded yearly. She agrees to repay the loan in three equal annual installments, with one
payment due at the end of each year. Determine the amount (in %) of each installment.

Options :

4410092124196. * 1,13,300
4410092124197. * 1,25,100
4410092124198. ¥ 1,33,100
4410092124199. * 1,37,300

Question Number : 43 Question Id : 441009542200 Question Type : MCQ



T 23,31,000 BI AT 10% TP & Y AMMNG &0 Y JIITA 14 a1 Ioh gl 16 IR IUR T | 98 0T &1 ol JAH aTfiieh foh=al 8§ gabH o fag
TeHd &, Ford ude oy & 3id & U fobed 34 gFft | Ul fohed o1 i (2 #) I1d sifve |

Options :

4410092124196. * 1,13,300
4410092124197. # 1,25,100
4410092124198. ¥ 1,33,100
4410092124199. * 1,37,300

Question Number : 44 Question Id : 441009623362 Question Type : MCQ
The bar graph given below shows the sales of laptops (in thousands) over a period of five years. Study the graph and answer the question.
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Find the percentage increase in sales from 2016 to 2017.
Options :

4410092447580. ¥ 75%

4410092447581. * 100%

4410092447582. ¥ 125%

4410092447583. # 150%



Question Number : 44 Question Id : 441009623362 Question Type : MCQ
e e T IR 7w & fUsa Ui anf ot erafd § QueTy &t fas! (9TRI &) &1 ST 9T | | I 6T 30 HIoNg 3R fOU T8 Uy o1 IR i
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m ¥
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m ¥

duciy &t faspl (BWIRT H)
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0 .
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ay
2016 ¥ 2017 I Tt § Uf=id 9fa I HifoT|
Options :

4410092447580. * 75%
4410092447581, # 100%
4410092447582, ¥ 125%
4410092447583. % 150%

Question Number : 45 Question Id : 441009576915 Question Type : MCQ

7 28 . m
If the reciprocal of the product of the reciprocals of 1 and 3 is — (where m and n are co — primes),
|

then find the unit digit of (m + n)°.
Options :



4410092262786. ¥ 3
4410092262787. * g
4410092262788. ¢
4410092262789. * 5

Question Number : 45 Question Id : 441009576915 Question Type : MCQ

gfe 7 3R 28 % ehHI b UM BT FehH M B (S8l m 3R n TG-3HT T &), l (m + n)? BT 3BTS 3feb T BIRTTI
4 63 n
Options :

4410092262786. % 3
4410092262787. * g
4410092262788, ¢ 6

4410092262789. % o

Question Number : 46 Question Id : 441009896061 Question Type : MCQ

If the mixed decimal 1.2929... is expressed as a fraction in its lowest terms, then the numerator exceeds the denominator by:
Options :

4410093538314, ¥ 29

4410093538315. # 25

4410093538316. # 27

4410093538317. # 28

Question Number : 46 Question Id : 441009896061 Question Type : MCQ

i e GRHAd 1.2929... B I HUTH Ual H 9 & =0 § o foa1 9, af 3f=1, 8 ¥ foed=1 sifde gim?
Options :

4410093538314. ¢ 29

4410093538315, % 25

4410093538316, % 27




4410093538317. % 28

Question Number : 47 Question Id : 441009525764 Question Type : MCQ

3
64 (= 2
The value of{E] ) X [EP = {f[lﬁ]':_i' is:

Options :
4410092058475, ¥

4410092058476. #
4410092058477, %

4410092058478, #

O | | b b | e OO |

Question Number : 47 Question Id : 441009525764 Question Type : MCQ
3

64 . -(5) 2 N FHifoT
(Ge) 2 x (2P + {/(g)-a) PHTAIT

36 6
Options :
4410092058475.
4410092058476. #
4410092058477, #

4410092058478, %

O | = s | = b | = 0D | =

Question Number : 48 Question Id : 441009896252 Question Type : MCQ

A family's monthly income is X75,000. They spend 20% on rent, 30% on groceries, 25% on education and 10% on other expenses. They save the remaining
amount. Calculate their monthly savings.



Options :

4410093539078. ¥ 212,000
4410093539079. ¥ 11,250
4410093539080. * 11,750
4410093539081. # 212,500

Question Number : 48 Question Id : 441009896252 Question Type : MCQ

T URAR Pt AIRYS 31T 275,000 B 1 T 20% BT TR, 30% B3 & JHHM TR, 25% 8T TR 3R 10% 30 Wi IR T Hd & | AV AR I s 8
I AR Fd 1 T DifoTd |

Options :

4410093539078. ¥ 212,000
4410093539079. ¥ 311,250
4410093539080. * 11,750
4410093539081. * 312,500

Question Number : 49 Question Id : 441009520406 Question Type : MCQ

In a test, B got 62 marks while A got 75 marks, out of 110 maximum marks. What approximate percentage of A's marks was B's marks?
Options :

4410092037043. ¥ 82.67%

4410092037044. ¥ 120.97%

4410092037045. ¥ 110%

4410092037046. * 68.18%

Question Number : 49 Question Id : 441009520406 Question Type : MCQ
quifes 110 i aTeh foret URIET &, B &1 62 3idh YT gU SIah A Bl 75 3 W §UI A & 3fab! T THTHT o1 U= B & 3iah 22

Options :

4410092037043. ¥ 82.67%
4410092037044. % 120.97%
4410092037045. #* 110%



4410092037046. * 68.18%

Question Number : 50 Question Id : 441009573983 Question Type : MCQ

Keshav purchased 10 kg of rice at the rate of ¥38 per kg and 30 kg of rice at *45 per kg. He sold the whole mixture at the rate of I42.5 per kg. Find his loss
(in %).

Options :

4410092251052. ¢ 30
4410092251053. % 35
4410092251054, # 25
4410092251055. * 38

Question Number : 50 Question Id : 441009573983 Question Type : MCQ

HA 10 kg ITTA 238 Ul kg BT G 3R 30 kg TTTA 245 Ufd kg P &R I /RIS | I TGO fHY01 DT 242.5 Ufd ke B R T o feam IV ES 811 2
) 1d Bifo|

Options :

4410092251052. ¥ 30

4410092251053. # 35

4410092251054, * 25

4410092251055. % 38

Question Number : 51 Question Id : 441009539965 Question Type : MCQ

Rocky bought 120 pieces of an article in two lots: the first 60 pieces at a rate of 12 pieces for 82, and the next 60 pieces at a rate of 15 pieces for 2100. He
also spent X190 on transportation. After selling all the pieces, he made an overall profit of 28%. Find the selling price of 30 pieces.

Options :

4410092115256. * 3316
4410092115257. % 2315
4410092115258. ¥ 3320
4410092115259. * %325



Question Number : 51 Question Id : 441009539965 Question Type : MCQ

AT = U axg B 120 SHIITT &I dic H TRIGT: TG 60 SH13TT 282 H 12 SHTS 1 &X I, 3R AT 60 SH1IAT 2100 H 15 SHIS B &x I | I
givag W Ht 2190 T fhT| G STl da- & 9lg, I A [HATHR 28% BT AT 3| 30 SHISA! 1 [dehd Yo JTd BTl |

Options :

4410092115256 % 316

4410092115257. % 315

4410092115258. ¥ 2320

4410092115259. * %325

Question Number : 52 Question Id : 441009894188 Question Type : MCQ

During a New Year sale, a company makes an offer - ‘Buy 6 Sweaters, Get 2 Free.” What is the effective percentage discount in this offer?
Options :

4410093530822. ¥ 25%

4410093530823. * 27%

4410093530824. * 23%

4410093530825. * 30%

Question Number : 52 Question Id : 441009894188 Question Type : MCQ

T I D1 A b GRM, T BT '6 Wex BRle, 3R 2 U U1 BT UH 6 gl ¢ | 39 THR & YT Wia=rd e fava 62
Options :

4410093530822. ¥ 25%

4410093530823. * 27%

4410093530824. * 23%

4410093530825. * 30%

Question Number : 53 Question Id : 441009899681 Question Type : MCQ

26,200 were divided among P, Q and R, such that 9 times of P = 2 times of Q =4 times of R. Find the share of R.
Options :

4410093552794. ¥ 1,800



4410093552795. # 1,715
4410093552796. % 1,667
4410093552797. # 1,791

Question Number : 53 Question Id : 441009899681 Question Type : MCQ

36,200 DI P, Q 3R R & &g 39 UHR fqUIrd fosar T {5 p 7 9 AT = Q &7 2 T[T = R &1 4 AT R BT 3801 I1d PifoTg |
Options :

4410093552794. +# 1,800

4410093552795. # 21,715

4410093552796. ® 1,667

4410093552797. # 1,791

Question Number : 54 Question Id : 441009542698 Question Type : MCQ

In a library, the ratio of the number of story books to that of non-story books was 4 : 1 and the total number of story books was 1224. When some more story
books were bought, the ratio became 9 : 2. Find the number of story books bought.

Options :

4410092126188. ¥ 153
4410092126189. # 136
4410092126190. # 168
4410092126191. # 160

Question Number : 54 Question Id : 441009542698 Question Type : MCQ

THh THAHId H HEH B QD! 1 U BT IR-HEMHI G| ! TS I ST 4 ¢ 1 AT R HEH B Jadh! D1 e AT 1224 2| 99 $B 3R
BB B T WRIG! TS, Ol 3FUTd 9 : 2 B T BRIG! TS HET B Jdeh! I TReAT 1d BT |

Options :

4410092126188. ¥ 153

4410092126189. ¥ 136

4410092126190. * 168

4410092126191. * 160




Question Number : 55 Question Id : 441009897158 Question Type : MCQ

Suraj completes % of a work m 45 days. At thus rate, how many more days he will take to complete the work?
Options :

4410093542702. ¥ 135

4410093542703. #* 134

4410093542704, # 138

4410093542705. ¥ 136

Question Number : 55 Question Id : 441009897158 Question Type : MCQ

ol et e a1 1 4t 45 o & Q1 van 2, 33t ke, e ! quf v | I febd=n g @i
4

Options :

4410093542702. ¥ 135
4410093542703. ¥ 134
4410093542704, # 138
4410093542705. ¥ 136

Question Number : 56 Question Id : 441009543327 Question Type : MCQ

A man goes to Agra from Nashik at a speed of 24km/hr and returns to Nashik at speed of 40km/hr, through the same route. What is his average speed (in
km/hr) on the entire journey?

Options :

4410092128704. ¢ 30
4410092128705. # 24
4410092128706. # 36
4410092128707. ¥ 34



Question Number : 56 Question Id : 441009543327 Question Type : MCQ

TS Hfad RIS J 3RT 24 km/hr 1 916 ST € SR I AN F 40 kny/hr D1 1 § ATRIS a0 31T STl ¢ | Y01 AT & folT ST 3iiad a1
(km/hr 7) forait 82

Options :

4410092128704. ¥ 30

4410092128705, % 24

4410092128706. ¥ 36

4410092128707, ¥ 34

Question Number : 57 Question Id : 441009542026 Question Type : MCQ
A car runs first 240 km at a speed of 60 km/h and the next 350 km at a speed of 80 km/h.

What is the average speed (rounded off to two decimal places) for the entire journey?
Options :

”
4410092123500. 65.56 km/h

4410092123501. ¥ =4 45 km/h
4410092123502. * 3 56 1m/h
4410092123503. * &1 56 1m/h

Question Number : 57 Question Id : 441009542026 Question Type : MCQ

TP HR UG 240 km, 60 km/h DT AT T 3R AT 350 km, 80 km/h B ATt & Teel! B
Tquf g & fore Sivyd =Td (GRHdd & ST &1 RIF| dd Quiiied) fant 82

Options :
%
4410092123500. * & 56 tm/h

4410092123501. ¥ =4 45 km/h
4410092123502. * 3 56 1m/h
4410092123503. * &1 56 1m/h



Question Number : 58 Question Id : 441009602044 Question Type : MCQ

The volume of a right circular cylinder is 900n cm’ and its height is 36 cm. Find the area of the base (in cm?) of the cylinder.
Options :

4410092363293. ¥ 251

4410092363294. * 18n

4410092363295. * 16n

4410092363296. * 30n

Question Number : 58 Question Id : 441009602044 Question Type : MCQ

TS AT 9a BT 3T 9007 cm’ 8 3R TYBT SIS 36 cm | 9T & YR BT ETHA (cm? H) I BIFTT
Options :

4410092363293, ¢ 25n

4410092363294, % 18n

4410092363295, * 16m

4410092363296, ¥ 30m

Question Number : 59 Question Id : 441009591585 Question Type : MCQ

There is a piece of land in the form of a rectangle such that its breadth is 50% of its length. If the area of the site is 45,000 m?, then its perimeter is (in
metres):

Options :
4410092321457. ¥ 900
4410092321458. * 9000
4410092321459. % 90
4410092321460. * 1200

Question Number : 59 Question Id : 441009591585 Question Type : MCQ

TH AAIHR STHH BT ¢h el 30 UHR ¢ b SUD! AISTs, STD! TaTs Bl 50% | Afe 3T SIS BT 8AH 45,000 m? B, A STHT URHATT (m ) F1d
HIfo|



Options :
4410092321457. ¥ 900
4410092321458. * 9000
4410092321459. % 90
4410092321460. * 1200

Question Number : 60 Question Id : 441009592850 Question Type : MCQ

A solid metallic sphere of radius 21 c¢m is melted and recast into spherical balls of radius 7 cm each. What is the ratio of the surface area of the original
sphere to the sum of the surface areas of all the balls?

Options :

4410092326517. % 1:3
4410092326518. * 2:5
4410092326519. * 1 :4
4410092326520. % 1:2

Question Number : 60 Question Id : 441009592850 Question Type : MCQ

21 om ST AT YT & TH 31 7Iidl DI FTGEAHR 7 om BT AT MATHR et §1E 971 | G 110 & G & SR it it el & ga aawmal
& TRT BT SUTd fob a1 BRI

Options :

4410092326517. %1 :3
4410092326518. * 2:5
4410092326519. * 1 :4
4410092326520. % 1:2
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Question Number : 61 Question Id : 441009949362 Question Type : MCQ
Which method of weed control involves the use of living organisms?

Options :

4410093750890. #* Mechanical control

4410093750891. ¢ Biological control

4410093750892. # Chemical control

4410093750893, * Cultural control

Question Number : 61 Question Id : 441009949362 Question Type : MCQ
TRUAAR 01 &1 forg fafyr & Shifad shal &1 SuaeT 2nfid g2

Options :

4410093750890. * gifAds (A=
4410093750891 ¢ Sifges fgzm
4410093750892, * IS fAg=01
4410093750893, ¥ Gk id HIAT

Question Number : 62 Question Id : 441009951130 Question Type : MCQ
What is the role of cellulolytic bacteria in organic matter decomposition?
Options :

4410093757909. # Fixing atmospheric nitrogen

4410093757910. # Decomposing lignin

Mandatory

40

40

0

1
4410091019921
Yes



4410093757911. ¥ Breaking down cellulose
4410093757912. #* Oxidising sulphur

Question Number : 62 Question Id : 441009951130 Question Type : MCQ

FIa® gard & siged & Yegaiafed ST (cellulolytic bacteria) Pt FT YfHeHT 82

Options :

4410093757909, ¥ ARIHSHNT ATSCIoH BT RRTHRUT
4410093757910. * Il 3raeed

4410093757911. ¥ YegdIol ol dlel
4410093757912, % FhR SHRITHRUI

Question Number : 63 Question Id : 441009951157 Question Type : MCQ
Which revolution is associated with the increased production of milk in India?
Options :

4410093758013. * Green Revolution

4410093758014. # Blue Revolution

4410093758015. ¥ White Revolution

4410093758016. * Yellow Revolution

Question Number : 63 Question Id : 441009951157 Question Type : MCQ
YRd T gY & IdTe | gfe v wifa I waifid g2
Options :

4410093758013, ¥ gRd ifd
4410093758014 % =Icfl whifd
4410093758015, ¢ & wifd

4410093758016. * Uicil shifd

Question Number : 64 Question Id : 441009951166 Question Type : MCQ



What is the recommended floor space per bird in a deep litter system for broilers?
Options :

4410093758049. ¥ 0.25 sq ft

4410093758050. ¥ 1.0 sq ft

4410093758051. % 3.0 sq ft

4410093758052. % 3.5sq ft

Question Number : 64 Question Id : 441009951166 Question Type : MCQ
SraeR & forg TeR ferex RIed (litter system) H Ui geft 8¢ SrRIR R fad= 82

Options :

4410093758049. # 0.25 anQO_C’

4410093758050 ¢ 1.0 47 He

4410093758051, ¥ 3.0 0 Bc

4410093758052. # 3.5 ang?_C’

Question Number : 65 Question Id : 441009951207 Question Type : MCQ
Which biological control agent is used against Parthenium hysterophorus?
Options :

4410093758213. #* Coccinella septempunctata

4410093758214, ¥ Zygogramma bicolorata

4410093758215. # Trichogramma chilonis

4410093758216. ¥ Nezara viridula

Question Number : 65 Question Id : 441009951207 Question Type : MCQ

urffaoy fRXRIRY (Parthenium hysterophorus) ¥ favg fra Sfaw a0 sRE &1 T fear e %?

Options :
4410093758213. ¥ HIGH @IEHLidCICI (Coccinella septempunctata)

4410093758214, ¢ SIS SI¥DHIARICT (Zygogramma bicolorata)




4410093758215. # §|$$_|ﬂlﬂl ENIIEE (Trichogramma chilonis)
4410093758216. ¥ SR a|§§€1| (Nezara viridula)

Question Number : 66 Question Id : 441009951214 Question Type : MCQ
Which is a disadvantage of continuous use of the same herbicide?

Options :

4410093758241. * Increases yield

4410093758242. * Encourages soil microbes

4410093758243. ¥ Leads to herbicide resistance

4410093758244, ®* Improves weed biodiversity

Question Number : 66 Question Id : 441009951214 Question Type : MCQ

T B BN & FRAR UaT @ &1 g1 et 22
Options :

4410093758241, % IUST A gfg FaT

4410093758242, % Tl J&HoNal &l dGIdT &
4410093758243, ¢ TMHATRN UfeRTe H gfg dRT 8
4410093758244, % TRUAAR o1d fAf3edr & GUR Ha1 g

Question Number : 67 Question Id : 441009951226 Question Type : MCQ
Which of the following is NOT a method of vegetative propagation?

Options :

4410093758285. # Grafting

4410093758286. # Cuttings

4410093758287. # Layering

4410093758288. ¥ Seed sowing

Question Number : 67 Question Id : 441009951226 Question Type : MCQ



fofafaa o 9 ﬁqﬂéﬁ, HID Hae (vegetative propagation) o1 fafe 18t 87
Options :

4410093758285, % HAH S (Grafting)

4410093758286. #* HIH (Cuttings)

4410093758287. * U (Layering)

4410093758288. ¢ &I AT (Seed sowing)

Question Number : 68 Question Id : 441009951246 Question Type : MCQ
Which of the following is considered a fixed cost in farm budgeting?

Options :

4410093758365. # Seeds

4410093758366. * Labour wages

4410093758367. ¥ Depreciation on machinery

4410093758368. * Fertilisers

Question Number : 68 Question Id : 441009951246 Question Type : MCQ

fraffed @ O f5d oY sore-FuRo 3 te fHoa anrd a1 o g2

Options :

4410093758365, % ool
4410093758366. % HfTh Holgl
4410093758367, ¥ URIRI IR TedgM
4410093758368, % JAD

Question Number : 69 Question Id : 441009951147 Question Type : MCQ
Which segment of the grasshopper’s body bears the wings and walking legs?
Options :

4410093757973. ¥ Head

4410093757974. ¢ Thorax



4410093757975. ¥ Abdomen
4410093757976. % Cervix

Question Number : 69 Question Id : 441009951147 Question Type : MCQ
feg & IR & by UM H g SR W B 52

Options :

4410093757973, ¥ RR (Head)

4410093757974. ¥ d& (Thorax)

4410093757975. # 3aX (Abdomen)

4410093757976. * UIdT (Cervix)

Question Number : 70 Question Id : 441009951202 Question Type : MCQ
Which of the following is a biological method to mitigate pesticide pollution in soil?
Options :

4410093758193. # Landfilling

4410093758194. ¥ Bioremediation

4410093758195. # Chemical oxidation

4410093758196. * Soil incineration

Question Number : 70 Question Id : 441009951202 Question Type : MCQ
faffad 7 § PH-8 faftr, g1 § s uguur & o9 & 3t Sfds fafr 2
Options :

4410093758193, # Y-HRUT (Landfilling)

4410093758194, ¥ g SUFRT] (Bioremediation)

4410093758195. * AP STHRIIHRUT (Chemical oxidation)

4410093758196. # Hal HEIBRUT (Soil incineration)

Question Number : 71 Question Id : 441009992307 Question Type : MCQ



Which of the following is the most common natural cause of soil erosion in forested watersheds under tropical climatic conditions?
Options :

4410093921364. ¢ Rainfall-induced surface runoff

4410093921365. * Seasonal snow accumulation

4410093921366. # High-altitude windstorms

4410093921367. #* Earthquake-triggered landslides

Question Number : 71 Question Id : 441009992307 Question Type : MCQ

IUH s STaarg URTRUfaH! § gTres1ied STaugul &3 § JaT 3tReH BT Ja JH=I Wi iadb BRI HIH-91 52
Options :

4410093921364, ¢ ANI-URT Ida! 3Ua8
4410093921365, ¥ HIGH! gt 1 T
4410093921366. % I SHaTs dTd B
4410093921367, ¥ YbU F ITT YRIT

Question Number : 72 Question Id : 4410091041206 Question Type : MCQ
Tending operations in plantation management include which of the following?
Options :

4410094113918. # Soil mining and sand removal

4410094113919. # Fencing and poaching

4410094113920. ¥ Weeding, thinning, and pruning

4410094113921. * Controlled burning only

Question Number : 72 Question Id : 4410091041206 Question Type : MCQ
&R Jae T CguTd BT (Tending operations) B AR & § HIH-17 AT 82

Options :
4410094113918, % TSI WG Td dTc b Te
4410094113919. % SIS T UG 3AY HeTg




4410094113920, ¢ RT3, foRa= SR BT
4410094113921, ¥ Had MIAd g

Question Number : 73 Question Id : 4410091041331 Question Type : MCQ
Which of the following forest types has highest biodiversity?

Options :

4410094114470. * Boreal forest

4410094114471. * Temperate deciduous forest

4410094114472. ¥ Tropical rain forest

4410094114473. #* Alpine forest

Question Number : 73 Question Id : 4410091041331 Question Type : MCQ
frafeiad & @ o 97-ueR & Tafftie Sa fafdeadr gt 2

Options :

4410094114470, * SIRTA a4

4410094114471, % 2fdmor gofordt a=

4410094114472, ¢ IUmfesediy auf g

4410094114473, # 3{cUrsd dd

Question Number : 74 Question Id : 4410091041433 Question Type : MCQ
Controlled grazing is important in forest areas to:

Options :

4410094114846. * increase forest fires

4410094114847. # accelerate desertification

4410094114848. ¢ prevent soil erosion and promote regeneration

4410094114849. * permanent loss of vegetation cover

Question Number : 74 Question Id : 4410091041433 Question Type : MCQ



, T &1 ¥ Fafd wR1E Heayut ]
Options :
4410094114846. ¥ TG dgMH & [o1T
4410094114847, % HSRITNDHU Bl g B P [o1Q
4410094114848, ¥ T&T 3URGA DI A AR Yo B I1al o & foIg

4410094114849, ¥ TANT SHTARUN b RITRAT JHH o ferg

Question Number : 75 Question Id : 4410091041444 Question Type : MCQ

Heavy browsing by wild animals in a forest area usually results in which of the following?
Options :

4410094114890. ¥ Decreased plant diversity

4410094114891. * Increased regeneration

4410094114892, #* Healthy tree growth

4410094114893. * Improved timber quality

Question Number : 75 Question Id : 4410091041444 Question Type : MCQ

g9 &7 § 9= wIforal gRT 3raf¥es ufial & I A grHa: Fefiafed § Q@ oH-91 U4 Usdr g2
Options :

4410094114890, « g4qfd fafdear & oot

4410094114891. ¥ TT¥a- H gfa

4410094114892, % W 98 gl

4410094114893. % UHTY I Ul T JUR

Question Number : 76 Question Id : 441009991986 Question Type : MCQ
In cleft grafting, the scion is typically:

Options :

4410093920094. * inserted into the bark flap

4410093920095. * placed in a diagonal cut at the root



4410093920096. ¥ wedge-shaped and inserted into a vertical slit
4410093920097. * tied with a polyethylene thread directly to a branch

Question Number : 76 Question Id : 441009991986 Question Type : MCQ

mWﬁ,W(scion)aﬁmwa |

Options :

4410093920094, ¥ BT ST ( bark flap) H ST ST &

4410093920095, ¥ S R foRe Fe & WaTI@1

4410093920096, ¢ Tdll & 3MHR DI Blcil & 3R Th SR YT H STl et §
4410093920097, ¥ TS UTfTQfye= o § i 2rar I sien Sirar 8

Question Number : 77 Question Id : 441009992341 Question Type : MCQ

Which of the following is the process by which wind transports detached soil particles?
Options :

4410093921496. * Hydraulic lift

4410093921497. #* Particle fusion

4410093921498. ¥ Saltation

4410093921499. # Capillary movement

Question Number : 77 Question Id : 441009992341 Question Type : MCQ

frafeiaa & © 98 ufthar H19-3 § fords gRT Ua- Yuadhd gal Uil &1 uRae- &l 82
Options :

4410093921496. * E@WW (Hydraulic lift)

4410093921497 ¥ HUT AT (Particle fusion)

4410093921498. ¥ d&T (Saltation )

4410093921499. % HIRTHT Tl (Capillary movement)




Question Number : 78 Question Id : 441009991894 Question Type : MCQ

In artificial regeneration, the use of genetically improved planting stock most effectively contributes to which of the following?
Options :

4410093919741. * Enhanced ecological succession

4410093919742. * Increased biodiversity

4410093919743. ¥ Consistent growth performance and higher productivity

4410093919744, * Natural resistance to local browsing animals

Question Number : 78 Question Id : 441009991894 Question Type : MCQ

HT GoMH H, 3TaRI%G ©U I I9d AU Kl BT ITANT FHfaRad & § forad gad gHTdl &0 3 IEH ¢l 82

Options :

4410093919741, ¥ IFd TR 3IhH

4410093919742, % 91 g3 oid fafdear

4410093919743, ¢ FITA gfg 3R I IdTCHl

4410093919744, ¥ R TRATE SHAR| & Uld Uided UfdBR (Natural resistance)

Question Number : 79 Question Id : 4410091041237 Question Type : MCQ
The term 'Site Quality' in plantation management is assessed primarily by:
Options :

4410094114058. * Soil colour and texture

4410094114059. * Annual rainfall alone

4410094114060. ¢ Site Index

4410094114061. * Leaf shape and canopy size

Question Number : 79 Question Id : 4410091041237 Question Type : MCQ

JERITUT YeeH H RIS O (Site Quality)' RTeg BT HTH T TBA: & YR IR forar STan g |
Options :

4410094114058, % HG&I & 1 Td §1dC




4410094114059, ¥ Had dI¥d I8
4410094114060. ¥ YT JaABIH
4410094114061, * T & TR R HAMG & THR

Question Number : 80 Question Id : 4410091041542 Question Type : MCQ

Which Section of the Wildlife Protection Act, 1972, deals with the prohibition of hunting of wild animals specified in Schedules [-IV?
Options :

4410094115222. # Chapter I, Section 18

4410094115223. # Chapter III, Section 20

4410094115224, % Chapter II, Section 11

4410094115225. % Chapter 111, Section 9

Question Number : 80 Question Id : 4410091041542 Question Type : MCQ

Iold TREFUT SHTAFTH, 1972 B HH-U YRT ST -1V H fafAfdy a= mifor & smae R ufavy 9 defid g2
Options :

4410094115222, % ST 1, URT 18

4410094115223, # MY 111, YRT 20

4410094115224, % ST 11, YRT 11

4410094115225, ¢ A& 111, YRT 9

Question Number : 81 Question Id : 4410091047089 Question Type : MCQ

A group of genetically identical individuals obtained by repeated self-fertilisation is referred to as a
Options :

4410094137409. * hybrid line

4410094137410. ¢ pure line

4410094137411. ¥ mutant line

4410094137412. * recombinant line



Question Number : 81 Question Id : 4410091047089 Question Type : MCQ
YRIGA WHSE gRT U AR U I 3 Sitdl & JUg Bl HET ol 5|

Options :

4410094137409, % HbHR dRIHH (hybrid line)
4410094137410. ¥ R[qYU dRIPH (pure line)
4410094137411, ® IARad! 9HH (mutant line)
4410094137412, % WW (recombinant line)

Question Number : 82 Question Id : 4410091048700 Question Type : MCQ

An animal whose genome has been altered by the stable introduction of foreign DNA is called a
Options :

4410094143911. * hybrid animal

4410094143912. # clonal animal

4410094143913. ¢ transgenic animal

4410094143914, * recombinant animal

Question Number : 82 Question Id : 4410091048700 Question Type : MCQ
I8 WTun forah S| H faSTci DNA & I Ua=T gRT aRac a1 T gl, 39 FHEI Sl g |

Options :

4410094143911, * TR Yoft (hybrid animal)
4410094143912, % Q=T YToft (clonal animal)
4410094143913, + TSI UTUT (transgenic animal)
4410094143914, % G YTOR (recombinant animal)

Question Number : 83 Question Id : 4410091093556 Question Type : MCQ

The protozoan parasite Plasmodium is transmitted to humans by the bite of a female
Options :

4410094311646. * Aedes mosquito



4410094311647. ¥ Anopheles mosquito
4410094311648. #* Culex mosquito
4410094311649. # Tsetse fly

Question Number : 83 Question Id : 4410091093556 Question Type : MCQ
TereN3 TRelid weHfSam, Hrer & Pleq A A7 & TalRd gar g
Options :

4410094311646. ¥ TSI TR

4410094311647. ¢ TGRS Hedx

4410094311648. ¥ RIAR] TSR

4410094311649, % T Hard!

Question Number : 84 Question Id : 4410091093924 Question Type : MCQ
The first antibody to appear in the primary immune response is

Options :

4410094313118. # IgA

4410094313119. * IgE

4410094313120. * 1gG

4410094313121. ¥ IgM

Question Number : 84 Question Id : 4410091093924 Question Type : MCQ

Ui UfcRe Srfehar §f Uehe g ara ugan Ufaveft gl
Options :

4410094313118, % IgA

4410094313119, % IgE

4410094313120. ¥ IgG

4410094313121. ¢ IgM




Question Number : 85 Question Id : 4410091094112 Question Type : MCQ
The flea, Xenopsylla cheopis, is a vector of the deadly bacterial disease
Options :

4410094313866. ¥ malaria

4410094313867. # typhoid

4410094313868. ¥ plague

4410094313869. * cholera

Question Number : 85 Question Id : 4410091094112 Question Type : MCQ
SR B3I (Xenopsylla cheopis) - TURY, OTd® SHATO 2T H1I6F ¢

Options :

4410094313866. % TR
4410094313867. * CITPITS
4410094313868, ¥ Wi
4410094313869. ¥ HIART

Question Number : 86 Question Id : 4410091038745 Question Type : MCQ
Which of the following statements about vertebrates is INCORRECT?

Options :

4410094105098. * Birds possess feathers and lay shelled eggs.
4410094105099. ¥ Mammals have mammary glands and an external ear.
4410094105100. ¥ Amphibians respire only through gills throughout their life.
4410094105101. * Reptiles have dry scaly skin and lay leathery eggs.

Question Number : 86 Question Id : 4410091038745 Question Type : MCQ
HRABIH & IR T FAEffEd & & HH-91 o TTed 82
Options :

4410094105098, % TR & Ra gd § 3R A Haagad S S 7



4410094105099, % TALTRAY & T Uit 3R T 9181 HUl g 7|
4410094105100, ¢ IHITR UT0R, Sfig HR Had TAHS! & HIETH T gl yTT A & |
4410094105101, % TIGU! B a1 Lo 3R Uedb! Bl § a1 T AT 33 A ||

Question Number : 87 Question Id : 4410091038820 Question Type : MCQ
Match the vertebrate group (Column A) with its digestive adaptation (Column B).

Column A Column B

A. Birds 1. Buccal cavity involved in water flow
B. Amphibians 2. Gizzard for mechanical digestion

C. Fish 3. Longer hindgut for digesta retention
D. Herbivorous reptiles 4. Cloaca present

Options :

4410094105394. ¥ A-2, B4, C-1, D-3
4410094105395. # A-3,B-1,C4,D-2
4410094105396. ¥ A-1, B-2, C-3, D4
4410094105397. # A-4,B-3,C-2,D-1

Question Number : 87 Question Id : 4410091038820 Question Type : MCQ

DHRBD! GG (DHIAH A) DT I U 3Ha (Hiad B) ¥ FAferd dIfog|

PicH A PicH B

A. Tgt 1. oIt UaTe | =miie g fedr

B. 3HIIR 2. i3 uraH & forg gyt (Gizzard)

C. 3. U o (digesta) ITYRUT & o8 Tall T (hindgut)
D. YMHTERT TG 4. FATHT IUFRYT

Options :

4410094105394. ¥ A-2, B4, C-1, D-3
4410094105395. # A-3,B-1,C4,D-2



4410094105396. # A-1,B-2,C-3,D-4
4410094105397. # A4, B-3,C-2,D-1

Question Number : 88 Question Id : 4410091093547 Question Type : MCQ

In epidemiology, the term 'natural history of a disease' refers to the course of the disease
Options :

4410094311610. * after vaccination

4410094311611. # under surgical treatment

4410094311612. ¢ without medical intervention

4410094311613. #* in only symptomatic cases

Question Number : 88 Question Id : 4410091093547 Question Type : MCQ

TR fagm #, fardt I &1 Ui faes sfaem wsg AT B TR DI T HRaT g

Options :

4410094311610. ¥ TIHIHIUN & dIG
4410094311611, * e fafdrea & sidvia
4410094311612. ¢ Fafdc gxaay o foqr

4410094311613, ¥ hdd A&UNHB HIEA

Question Number : 89 Question Id : 4410091093779 Question Type : MCQ
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion (A): Integrated watershed management is essential for the conservation of aquatic ecosystems.
Reason (R): Watershed degradation directly affects water quality, sediment load and aquatic biodiversity downstream.

Options :

4410094312538. ¢ Both A and R are true, and R is the correct explanation of A.
4410094312539. * Both A and R are true, but R is not the correct explanation of A.
4410094312540. * A is true, but R is false.

4410094312541. #* A is false, but R is true.



Question Number : 89 Question Id : 4410091093779 Question Type : MCQ

39 far ey &1 I ST S SIfHBUT (A) 3R HRUT (R) THS Fgferiad ot syl & e H§ 9 g |

AFUBY (A): ST TR =] & TREUT & o Thidhd ST HR Tae ST 5 |
PRUT (R): TAGHR &R0 YF&l U J S &1 0T, A HR 3R VT SIad oig fafaerdr &) guifad #rar |
Options :

4410094312538. ¥ A AR R G A & 3R R, A B! Tg! TS 5|
4410094312539, % A 3R R G 9 &, Afhd R, A B! el AR gl 8
4410094312540, % A T ©, Afh9 R 3T g

4410094312541, % A 3I §, AfBT R TI &

Question Number : 90 Question Id : 4410091093938 Question Type : MCQ
Read the given Assertion and Reason carefully and select the correct option.

Assertion (A): Antibodies can bind to antigens with high specificity and affinity.
Reason (R): The constant part of an antibody binds directly to the antigen.

Options :

4410094313174. * Both A and R are true, and R is the correct explanation of A.
4410094313175. #* Both A and R are true, but R is not the correct explanation of A.
4410094313176. ¥ A is true, but R is false.

4410094313177. # Ais false, but R is true.

Question Number : 90 Question Id : 4410091093938 Question Type : MCQ
fau T 3 3R HRUI &) &FYdS TS 3R el fashed o1 T H |

AFUFYT (A): TS 3= fafRipdr 3R siefar & Try ufael ¥ & Tahd 3|
PRI (R): TS BT FRR YT e ufeo T 9 Srar g |

Options :
4410094313174, ¥ A IR RS A 8, AUTR, A B! g AT |




4410094313175, % A 3R R HI A g, AT R, A B! Ig! AT Tl ¢
4410094313176. ¥ A G §, AfP R 3T T
4410094313177 % A I, AfPTR TA T

Question Number : 91 Question Id : 4410091132380 Question Type : MCQ

Plants prevent self-pollination by having different maturation times of male and female sex organs. This phenomenon is called
Options :

4410094464918. # self-sterility

4410094464919. # herkogamy

4410094464920. ¢ dichogamy

4410094464921. * heterostyly

Question Number : 91 Question Id : 4410091132380 Question Type : MCQ

16y, TR 3R AIET SN & STHT-3THT URUSHT THT 81 & HRUT W-URATU &1 Ahd g | 39 UREe & HEl Il g
Options :

4410094464918, % TT-FEHT (self-sterility)

4410094464919. % -3 SHIIRTAT (herkogamy)

4410094464920. ¢ THFAHT TSl (dichogamy)

4410094464921, % fauHafdemdl (heterostyly)

Question Number : 92 Question Id : 4410091132428 Question Type : MCQ

Which of the following parts of the microscope is used to regulate the aperture through which light rays reach the condenser?
Options :

4410094465116. * Foot

4410094465117, # Stage

4410094465118. ¢ Iris diaphragm

4410094465119. * Objective lens



Question Number : 92 Question Id : 4410091132428 Question Type : MCQ

ﬁﬂﬁ%mﬁ@fmWWW,WW(aperture)ﬁﬁﬁﬁﬂﬁ%%ﬂ%ﬁ%mwmwwwondenser)

d% Ugddt 82

Options :

4410094465116. * T (Foot)

4410094465117, ¥ IS (Stage)

4410094465118, ¢ URAIRPT HHwS< (Iris diaphragm)

4410094465119, * 3{fHEIgH o~ (Objective lens)

Question Number : 93 Question Id : 4410091132575 Question Type : MCQ

Match the following values of centrifugation steps in the isolation of organelles of muscle cells using the cellular fractionation technique with their

corresponding cells.

Values Cells

a. 10 min for 1000 g

i. Nuclei

b. 10 min for 10000 g

ii. Contractile Apparatus

¢. 20 min for 20000 g

iii. Mitochondria

d. 60 min for 100000 g

iv. Microsomal and Cytosolic Fractions

Options :

4410094465687. * a)ii, b) i, ¢) iii, d) iv
4410094465688. ¥ a) i, b) ii, ¢) iii, d) iv
4410094465689. * a)iii, b) i, ¢) ii, d) iv
4410094465690. * a) i, b) ii, ¢) iv, d) iii

Question Number : 93 Question Id : 4410091132575 Question Type : MCQ

DIRIBII YU Theilch BT IUART Hdb URI HIRIBTSN o HIRIBIT b b0 T 3{Ubg0l TRUN o fAHfiRad Ml &1 fie, 396t Tird

DIRIBISN Y DI

Hi4

PIRIBIY

a. 1000 g & faT 10 min

i, Padb

b. 10000 g & T 10 min

ii. GHoIRITd SUDRU|




c. 20000 g % 17T 20 min iii. AI3cIPpI=dl
d. 100000 g & 17T 60 min iv. ATShHIATHT 3R TS IIfad 37
Options :

4410094465687. * a) i, b) i, ¢) iii, d) iv
4410094465688. ¥ a) i, b) ii, c) iii, d) iv
4410094465689. ¥ a) iii, b) i, ¢) ii, d) iv
4410094465690. ¥ a) i, b) ii, c) iv, d) iii

Question Number : 94 Question Id : 4410091132623 Question Type : MCQ

Which of the following nucleic acid databases is maintained by the National Centre for Biotechnology Information (NCBI)?
Options :

4410094465871. ¥ BIONET

4410094465872. ¥ Staden

4410094465873. ¥ Prophet

4410094465874. ¥ GenBank

Question Number : 94 Question Id : 4410091132623 Question Type : MCQ

FafifEd # 9 191 Yolle 3 Serad, AP ofd Wit G- g (NCBI) GRT SHIT 36T S 672
Options :

4410094465871. ¥ BIONET

4410094465872. # @%W(Staden)

4410094465873. # 1;h'av_C’(Prophet)

4410094465874. ¥ GenBank

Question Number : 95 Question Id : 4410091132674 Question Type : MCQ
Which of the following is a major application of bioinformatics in medicine?
Options :

4410094466067. * Astronomical calculations

4410094466068. * Soil profile testing



4410094466069. * Climate change analysis
4410094466070. ¥ Drug development

Question Number : 95 Question Id : 4410091132674 Question Type : MCQ

frafiad o ¥ -1 Smyfdam & Sta T o o1 Ui SuanT 82

Options :

4410094466067. ¥ TG T
4410094466068. * T fdaRUT TRI&[0T
4410094466069 % STTAR] TR [aRTATOT
4410094466070 ¢ 3SfY fasmra

Question Number : 96 Question Id : 4410091132414 Question Type : MCQ

During the last few decades, it was observed that plants respond to day length in their flowering. This phenomenon is called
Options :

4410094465056. * phototropism

4410094465057. * phototaxy

4410094465058. * photonasty

4410094465059. ¥ photoperiodism

Question Number : 96 Question Id : 4410091132414 Question Type : MCQ

U $2 TP §, 98 /1 T 8 f urey 39 o) daTs & SuR T $Rd & | 39 g1 Bl HEI ST g |
Options :

4410094465056. * Wﬂ’lﬂaﬁ:{ (phototropism)

4410094465057. # YHIRIMIA (phototaxy)

4410094465058 % YBTRTIH T (photonasty)
4410094465059. ¢ SIfTIHIICIAT (photoperiodism)

Question Number : 97 Question Id : 4410091132642 Question Type : MCQ



Which of the following databases compares protein sequences against a protein sequence?
Options :

4410094465943. ¥ BLASTp

4410094465944, ¥ BLASTn

4410094465945. ¥ BLASTz

4410094465946. # BLASTx

Question Number : 97 Question Id : 4410091132642 Question Type : MCQ
fafafed & @ ®F-91 Seey, WA 3wHH! &I o1, W 3 HH J Hdl 82
Options :

4410094465943. ¥ BLASTp

4410094465944, % BLASTn

4410094465945. % BLASTz

4410094465946. * BLASTx

Question Number : 98 Question Id : 4410091132588 Question Type : MCQ
Which of the following isotopes of carbon is NOT a radioisotope?
Options :

4410094465739, ¥ 14C
4410094465740. % 16C
4410094465741, ¢ 12C
4410094465742, % 10C

Question Number : 98 Question Id : 4410091132588 Question Type : MCQ
fAfIed & ¥ a4 &1 S -1 SRS SSTaaRAS T8l 82

Options :
4410094465739, ¥ 14C
4410094465740, ¥ 16C



4410094465741, ¢ 12¢C
4410094465742, ¥ 10C

Question Number : 99 Question Id : 4410091132606 Question Type : MCQ

Which of the following sequences of pigments from top to bottom is correct in paper chromatography?
Options :

4410094465807. # Chlorophyll b, Chlorophyll a, Carotenes, and Xanthophylls

4410094465808. ¢ Carotenes, Xanthophylls, Chlorophyll a, and Chlorophyll b

4410094465809. #* Chlorophyll a, Chlorophyll b, Carotenes, and Xanthophylls

4410094465810. * Carotenes, Xanthophylls, Chlorophyll b, and Chlorophyll a

Question Number : 99 Question Id : 4410091132606 Question Type : MCQ

TR wrieww! # 3 I = e auie! o1 Raffad § ¥ S19-91 3rgHa I8 32
Options :

4410094465807, ¥ FARIP b, FTARINB a, PRI R Hftha
4410094465808, ¢ BRI, SN d, FARIB a 3R FARIBA b
4410094465809. * FARIMPA a, FARIBA b, BACH 3R FNftha

4410094465810, % HRICH, WA, FARITP A b 3R FARIh a

Question Number : 100 Question Id : 4410091137010 Question Type : MCQ

Prokaryotic DNA replication differs from eukaryotic replication in a manner that prokaryotes:
Options :

4410094483246. * use multiple origins of replication

4410094483247. #* have linear chromosomes

4410094483248. * lack Okazaki fragments

4410094483249. ¥ have a single origin of replication

Question Number : 100 Question Id : 4410091137010 Question Type : MCQ



UTahad! ST (Prokaryotic DNA) Ui, H&a! (Eukaryotic) AP ¥ 39 UHR 4 § & Uadbad

Options :

4410094483246, %

Ui & B3 Hall BT STUNT A &
4410094483247, % T IRIP TURE Bld &
4410094483248, %

T 3BT (Okazaki ) TSI BT 3HTE BIdT §
4410094483249, ¢ U1 &1 U &l g gidl &



